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Complete Course of Astrology

Erection and Internretation
of Horoscones

by

George Beyer

With the aid of this couree I aim to eliminate 2 lot of
bslast, matters that have been carried in text books that are
absolutely uselese and that makes anyone discouraged. The method
explained herein is simple and, if followed carefully, should
give the desired resnlts. Practiceally all that is contained here-
in is of my own prroduction and the student who has delved already
into other text books should find this method so redically differ-
ent that there is hardly e comparison possible.

However, as is the case with all subjects wnerein mathematics
are used, painstaking care must be excercised to make no errors in
calculations, else the whole horosccpe would turn out to be wrong.
My suggestion to students for imnortant horoscopes would te to make
one complete first, put it eawey and make another one for the same
moment completely and see how the results check. Time should actually
ellapse between one and the other work so that the calcwlations are
not mede erroneously twice.

Lesson 1

The erection of a chart (horoscope)

We have to acquire the following "tools" to work with: an
ephemeris for the year the horoscope is to be made., Supposing we
wish to make a horoscope for 2 native born August 3rd 1901, we have
tc buy an enhemeris for the year 1201 at some book store,

The next item we need is a Table of houses for the various
latitudes. Because it is of great difference whether you are making
a horoscope for a nerson born at New York or one born at Mexico Oity.
The so-called "Raphael Ephemeris" conteins Tablesof hcuses for NYC,
London and Liverpool. However, none for other latitudes. When other
latitudes are required it is suggested to get "Raphael's Tables of
Houses"., They are permanent and good for all timee.

In these lessons I am going to exovlain the ruvles_and regulatims
stec by step, just as if I erect the horoscove for myself end as if
I interpret it for myself. As working exemple we take the native
born Auvgust 3rd, 1901, Latitude 48°No. 15° East of Greenwvich, at
9.01.37 true local time.

Step #1: The sidereal time of birth is necessary. This value
is alwayes found in each ephemerie following the date. In case the
oirth occurs before noon you take the sidereal time value of the
previous day, if birth occurred after noon you take t%e.sideiea% t??g .
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of the same date. The sid. time for August 3rd 1901 et noon is
given in Ranhael's ephemeris for 1901 as: 8hours 4% min.29 sec.
and for the dey before : 8 hours 41 min.32 seconds. We have to
vee the vrevious day's value because the birth occurred before
noon.,

a) Tc this value we add the time ellapsed since noon. In our
case tne birth occurred at 9.01.37 AX; thus we add firet the 12
noure that ellapsed from the previoue noon to midnight; then we
add to it the time ellapsed from midnigitt til S hours 1 minute
37 seconds in the forenoon.

4 Furthermore we have to add in every cese 10 seconds for each
nour or proportionately for less than an hour that has ellapsed
as an adjustment. (The sidereal time advances in one day or in 24
nours about 3 minutes 57 seconds and the above adjustment takes
care of that situation). Thus in our example we have 12 plus 9
hours,21l in 211. The minutes do not count in our example because
it is just one uinute. Sumnosing it would be 9.30 A¥, then we would
have to coneider the 30 minutes as equalling 5 seconds in our ad-
justment. The 21 hours to be adjusted et 10 seconds per hour gives
210 séconds or 3 minutes 30 seconds. Thie value we also have to add
waen swming up.

¢) The next adjustment we have to meke is taking care of the dist-
ance of the birth place from Greenwich. When East of Greenwilch, we
have to deduct the adjvestment (suvch as for horoscopes of natives
born in Germany, Italy, Sweden etc); when West of Greenwich (such
as for natives ocorn in Svain, U.S.A., Cansds etc) we Lave to add
this adjustment. For each degree we have to adjust 2 seconds. Thus
our native beinp bornl]s degrees East, we have to deduct 30 seconds.
For a native of New York we would add 75 times 2 seconds or 150"
or 2 minutes 30", These adjustment values have notaing to do with
the time of birth, but only with the distance of plece of birth
from Greenwich, Bngland. This distance is expressed not in miles
out in degrees of longitude.

All these values we now add together (or deduct) =o as to

obtain the final correct esidereal tire. Thuse:?

Sid. Time noon August 2né 1901 3 h 41 m 32 8
Time ellapsed eince that noon 12 h
9k 0l m37 s
edjustaent for hours ellapsed &10s 3m 30 8
adjustment fsr longitude & 2s
(add when West, deduct when Eest of Gr.) - 2Q._8

29 h 46 m 09 s
Because we run above 24 hours, we heve to deduct one round of the
clocke 25 h 46 m 09 ¢ less 24 hours equals 5 h 46 m 33 s.

This i1s the real true sidereal time for the moment of birth of
this native.

Step #2: We now look up in the Tatle of houses for 48 degrees
(Native was born 48 degrees North) the cusps of the houses that
are glven there for this sidereal time: 5 h 48 m 09 s. The nearest
available Table in Raphael's enhemerides is the one for Vienna.
However, I have old Eurovean Tables wherein the Table of Houses
for exactly 48 degrees are given and we .shall use them. Thie Table
(elso Raphael's looks the same) shows the following: It 1lists at
the left the sidereal teginning with O hours and_running up to 24
hours.; thie is the firsi column. The columns follo¥ing are uarked
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ss: 10, 11, 12, Asc., 2, 3. This indicates the number of the house
cusp. Underneath you will find the different signs of the Zodiac
and the numbers below column by column show the exact degree that
is found on the cusp of a house at the moment. Of course we know
nothing so far about a house cusp, nor of a sign of the Zodiac, but
we shall presently get to it.

I shall 1llustrate a small portion of this Table of Houses for
48 degrees to tske care of our example:

Sid.Time 10 11 12 Asc. 2 3
4J°AQ.' i ) ™ 2% - m,
5h38ml2s 25 0 1 25.59 20 20
5n42m34 8 26 1 2 28,47 21 21

v 5h46p558€— 27 2 3 27.35 22 2
5h51ml7s 28 3 4 28,24 23 23
5h551388 39 4 4 29.13 24 34
6h00m008 30 5 5 Ol o0 235 235

Before we now go further we have to get acquainted with the
zodlacal signs in the heaven. There are twelve of them and their
sequence is constantly the same. Here they are:

Y Aries —  TaurusU —> Gemini IL. —> Oancer &
Il Leo- —> Virgo Mp —> Libra 2= —> Scorpio My
fSagittarius’Capricorn'\fS—» Aquarius == — Pisces M

Each sign is 30 degrees long. The 12 signs cover therefore 360 degrees
or the circle. One degree is divided into 60 minutes (') and one
minute into 60 seconds (*).

We note that in the Teble of houeee there is only ¥ listed
the positions for six house cusps (corners); however, we have twelve
of them. The reason for it is that the onposite cusps have the same
degrees only with the onnosite sign marked next to them. Here ie the
1list of opnosite signs:

Y Aries opposite Libra -

U Taurus " Scorpio P
I Gemini " Sagittarius 77
@ Cancer " Capricorn 43
R Leo " Aquarius ==
e Virgo " Pisces X

Asc. means Ascendant or the point that rises in the East at
birth. It is a very important point. It 2lso is the beginning of
the first house. The rotation of the houses is anti-clockwise.
Fig.#1 will illustrate this. M.0. means the mid-heaven or the point
that‘is just above us at the moment of birth. It 1is also the cusp
of the 10th house at the same time. This point is also very important.
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4
In Fig. #2 I insert the values that have to be placed at the eusps
of the houses and please note that the value onposite the 10th house cudp
is the same only with the opposite sign; so is the value of the 5th
house (opposite the 11th) etc. In our work we are not concerned about
the effect of the houses nor of the signs for which other astrological
texts devote large chspters, nor of the effect of the planets in signs
or in houses.

The sid. time of our example is 5 h 46 m 02 s. The nearest valuve
to thlis 1s shown as being 5 h 46 m 55 g in our Table of Houses for
48 degrees. Note that for other latitudes the values shown next to
the sid. time would differ materially.

Ne have 1n our case a difference of O min 468 to adjust so as to
arrive at the correct second for the ascendant. This is the only
cusp that occeeionally needs adjuetment. All others you either leave
the way they are shown, else if it hannens thet the sidereal time
is incidently just in the middle of the given sidereal time (such as
would oe the case if the sideresl time would have been 5 h 44 m 15 s)
then you would mark the 10th house cusp with 26.30, the 11th with
1.30, the 12th with 2.30 (2°30') etc. Why we do not have to be too
accurate will be explained later. Do not attempt to figure cusps
with mathematical exactness; results will not be better.

As to the adjustment of the Asc, we nronortion the values, by
saying?! from sid. time 5.42.34 to sid. time 5.48.55 are 4 m 21 8
and from Asc. valvwe of 26.47 Virgo to asc. value of 27.35 Virgo we
have 48 minutes difference.

Question: How far do we have to move the ascendant backward, when
the sid. time ie 5 h 46 min.09 s or 46 seconds lesse?

Answer: 46 seconds 1is very close 1/68 of 4 min.21 s (281 seconds);
therefore, all we have to do is go back with the ascendant 1/6 of
the ascendent's motion which is 2s we can see 48 mirnutes. Therefore,
we have to go backwards 8 minutes (1/6 of 48). This gives us the
exact minute for the Ascendant, i.e. 237,37 Virgo.

All the other house cusns we leave unchanged and just enter tiaem
at the house cusps, the values being taken from the Table of Houses,
using the correct sidererl time and the correct degree of Latitude
that belongs to the place of birth.

So as to be sure that all the atove is understood we use a second
example, much skorter now than the first one and we make it for
New York City, which lies 75 degreee West of Greenwich. We ghall
use iday 17th 1937, 8.30 PX daylight savings time.

Order: Erect the frame of the horoscope for this moment as per
instructions given avove.

Sid. Time May 17th 1937 at noon 3h33m04 s

time ellapsed since noon 8 h 20 m 00 s

(note that Daylight savings time is to be adjusted to Standard T)
adjust 10 sec. for each hour ellsvsed
iao gec. plus 1/3 of 10 sec.) 1m23s
adjust for 75° West @ 2 s (150 sec) (add) 2 m30 s
12 h 02 m 57 8
The Tatle of houses for New York in the vicinity of 12 hours looks
as follows:

3id. Time 10 11 12 Asc. 3 3
£ == M <7 3 ===
12h00m0Q0s 0 23 21 11.07 15 24
12h 3m40se 1 0 22 11.52 16 25
12h 7m30s 2 1 23 12.37 17 356

In this case we find that our required sidereal tlme is just
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atout in the middle between 12hOm0Os. and 12h3md40sg; because it is
12h2m578. This neceseitates using the printed values in the Taule
of Houses for NYC as of 12hOmOs and adding 30 minutes to each valve
for the cusps of the houses; we may even use 45 minutes to add to
and get better results in our later proportion work.

The Ascendant has to be figured correctly though, thus:
difference in sid. time from one column to the next is 3 m 40 s.
difference in the,rising cusp from one colunn to the next is 45 min.
(11°7' Sag. to 11 52' Sagittarius).

Our actusl sidereal time ie 13h2'57". This value 1s 3'S7" from
sid. time of 12h0'O* at which time 11.7 8ag. would rise.

Thus we make the eguation as follows:

3m40s : 2 m 578 equals 45 min.: x
turning these values (except the value 45m) into seconds, we get:

28 220 sec. i1s to 177 eec. so is 45 m to x.
or: 45 times 177 divided by 2320 gives us X, the unknown quantity.

or: 7965:330 equals 36. These 33 repregent the mirutes »f motion in
the value of the ascendant. This means that we have to add these
36 min., to 11°8%! Sagittariue and obtain the correct ascendant for
the moment, i.e. 11%43' Sagittarius.

To 2ll the other values of the cusps we add 45 min. straight
turough. The result is illustrated in Fig.#3.

Home work: Erect several horoscopes for definite times, Goth
for Europe as well as for placee in the U.S.A., for times oefore
noon of a day and after noon. Be sure that you underetand the proce-
dure vefore proceeding further,

step #3: the insertion of the planets into the wmap.

We lay the Tables of Housee completely saside now and forget
about them.We now look in the evhemerie under date of August 2Znd
to August 3rd 1201 in the lower part of thLe page where you will
find the planets' positions listed for noon time at Greenwioh in
longitude. In the top half we note that declinations snd latitudes
are also quoted. These we never look at. Ignore them compietely.
I have spent plenty of time with them and found out thet no results
can ve had from them, at least not with my method.

The only thing we use of the upper half of the page is the po-
sitlon of the Moon's Node at the far right corner. The Moon's node
is lmportent. Its sbbreviation is:dt .

The planets are marked in the ephemeris with special abbrevi-
ations as follows:

Sun ©® Moon D Neotune !  Uranus W Saturn®  Jupiter

Mars 57 Venus @  Mercury ¥ Pluto J .
We have to retain their nemes and their abbreviation marks.

The positions of the planets are given in degrees and minutes,
together with the sign they happen to be in at noon of the day con-
sulted, At times you will find in the evhemeris a capital R with
e line through the lower part of the K, like the &k of 2 doctor's Pre-
scription. This means that during thet time the planet whicih 1s wmarked
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that way is retrograde, i.e. moving with the clock, while its
regular movement is anti-clockwise. It is moving so to say back-
verds where it came from. These retrogrede motione last from
three weeks with fast moving planets to 4 months with slowly
Boving planets. The fastest moving planet is the Moon. It moves
from between 11 degrees to 15 degrees each day. The next fast
mover is Kercury, tken Venus, then the Sun, followed by Mars,
and lastly by the slow moving planets, Jupiter, Saturn, Uranus,
Neptune and Pluto. Sun and Moon ere never moving retrogreade.
All figures ehown in the evhemeris indicate geocentric positions
i.e. as eeen from our esrth. Do not attempt to ancvly this method
for nellocentric poesitions such as are »rinted in NWauticel Almanacs.
I have also teeted these and found them of no vaiue. 3teer clear
of tanings that do not work.

The Ephemeris for A ugust 2nd and August 3rd 1901 looks as
follows: (2lweays noon position 2t London)

Sun koon Nectune Uranus

Aug. 2nd:9 leo 27'; 5 Pisces 49'; O Cancer 37'; 13 Seg.3' R

’

Aug.3rd:10 leo 25';19 Pisces 51'; O Cencer 28'; 13 Sag.2' R

3zturn Juriter Mars Venus Mercury
Aug.2nd:R 11 Capr.1l'; 4 Capr.28'R; 11 Llibra 33'; 4Vi20';20CanlO!;
Aug.3rd 11 Capr.7'R; 4 Canr.23'R; 12 Litra 9'; 5Vi43';21Can 8';

The firet thing that you have to acquire is to learn to count
witi degrees, minutes and seconds just as you count with dollars
and cents. This takes patience and time. I believe you save more
time 1f you maeter this counting bueiness first vefore proceeding
instead of ccnstantly limping, end making errors.
The greatest difficulty is encountered when the planet moves
from one sign into another. We know that one sign is 30 degrees
long and 30 degrees of one sign is equal to O degree of the next
sign. Eowever, for celculation purvposes, we ray at times express
the vajue in & new sign in termg of the old sign. Thue:
3°15' Aries 1s equal to 33°15' Pisces 2nd also equel to
32075' Pisces. These changee help you many times to make deductions
of the Moon's motion,for example,very fast. In the third case 1
borrowed a decree from the 33 degrees and turned that degree into
minutes (60') so that I would be sble to deduct fast.
A fev exsmples: 3% 27' Taurus is equal to 323°237' Aries or 31987' Ar,
0°01' Capricorn is equal to 30001' Sag.or 29961' Sag.
The gist of thie work is that we must figure out the speed of
tlie planet each time. Thus we always heve to have twodeys positions
tc measuvre with., One alone is not enough. Whatever is the difference
in degrees and minutes from noon of one day to noon of the next day
is the speed of the planet. This speed ccvers 34 Lhours, because
from noon of one day tc noon of tae next day are simply 24 hours.
If it would be a matter of even hours things would be nice and easy.
But, we leve to measure at times to the second exact. It cennot be well
done with plain arithmetic$. We have to use logarithms for thet work.,
Raphael's ephemeris ccntain in the back e Table of logarithme such
as must be used to do the figuring down to the exact minute.
Before going into thie work, however, we now find first out
what the purpose of 211 this detailed work is.
"nen we make 2 horoecope for a certain moment we want to know

the exact planetary positions in the ueaven for thet time; the sipn,

Inscicuce op Cosmological Cconomics

WWIW.COSMOECONOMICS.COM



7
the degree and minute at which the planet is located at that moment
and the house it is posited. ‘

To obtain this, the firet thing to do ie to figure out what ise
the time at Greenwich when the event happens. Because all planets!
positions are figured for Greenwich and not for the place an event
or a birth occurs, unless it happens to be just at Greenwich (London).
Almenacs tell us that the time difference between London and New
York is 5 hours, between London and Chicago it is 6 hours, between
London end Mountain Time it is 7 hours; between London and Pacific
Time 1t is 8 houre, between London and central Germany it one hour
less; between London and Holland it is 20 minutes lees.

Thus when it 1s 8 AX in New York, it is 1 PM in London. wken
it 1s 7 P¥ in Sen Francisco, it 1s 3 AM the following day in London.
When it is 8 o'clock 1' 37" in London, then 1t is 9 o'clock 1'37"
Standard time in any part of Germsny or Italy. When it ie 9.20 PM
daylight savings time in New York which equals 8.20 PM standard time
(Eastern), then it is 1.20 AX in London etc.

Home work: this time affair should be practiced for all kinds
of times of the day, especially for minutes, morning, noon and
evening times; many a horoscope is made wrong by figuring the
proportdmate London time wrong.

Law: we always have to turn the time of the event wherever it
occurred into london time (Greenwich mean time). Therefore, the
evgnt that occurred in our exemple at 9.1.37 AK on August %ra 1901
15~ East of Greenwich actually for our puroose occurred at 3.1.37
Aii August 3rd at London (meaning London time).The New York event
on May 17th 1937 at 9.20 PM Eastern daylight savings time occurred
actually on May 18th 1937 at 1.20 AM in Greenwich time.

This must be understood and practiced, otherwise you walk
into deep water...

Having once established the event in Greenwich time, it is
very easy to figure out the planets! positions for that time, bes
cauce the planets' positions are given for Greenwich at noon.

All we have to do now is to figure out how many aours and
minutes we are away from noon. Taking our two examples, we find
that the Aug. 3rd 1901 event occurred at 8 oclock 1lm37s AM,London.

Noon we now call: 11 o'clock 59 min. 60 eeconds

we deduct 8 o'clock 1 min., 37 seconds
leaves 3 hours 58 min. 23 seconds.

The XKay 17th 1937 event occurred at 1.20 AY¥ London.

Noon we call 11 o'clock 60 min.
we deduct 1l hour 20 min,
leaves 10 nours 40 min.

The first event occurred 3 h 58 m 23 s before noon London;
the second event occurred 10 h 40 m before noon London.

This leaves the only guestion now open: How fast did the various
plenets travel during these periods? When we know that we simply
deduct that motion from the noon positions as given in the ephemeris
on that day #Awv we have the exact minute posltion of the planets

at tne place of blrth of the event. These are then entered into

the chart.

Inscicuce op Cosmological Cconomics

WWIW.COSMOECONOMICS.COM



et puneneaven
M)

&7
Sc.) :
t) ( 7
\'\—
H#3,
Fie 0¥
208 T2, n
&
2% & B B
‘ 5T '6?‘3‘ Do 227
L
| V7
1y 7 4#3
" .
< nan
‘ 'D/’32,)( )-7;3
«9/ .
e g
. 21, &
1% . S/ | 4% IM
e\ &/ %%
2u4 )-q{}'r ¥ \\‘\2 ‘g@
o o, ) o' € —
= ousY 9 _o¥a 3600’ 22 .7
£ " 277 >
") )
12z

Inscicuce op Cosmological Cconomics

WWIW.COSMOECONOMICS.COM



The five-fold horoscope for

The progr. a0roscope

of this chart is made for

the year Aug.3/37-Aug.3rd,1933

Xoon'e motion thie year (1837)
13°21! decreasing to 136!

45

{our exemple)

born Aug. 3rd 1801

long. 15 East

lat. 42 North

time ©,01,37 AKX locel tiae
3id. tize 5 h 45m 1lls.
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